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Berikna f(0)da
f@)=x
f(x)=x+1
f(x)=x-1
f(x)=3x
fx)=27
f@)=2"
Sf(x)=5"
S(x) =117
f()=+x
f@) =2
f(x)=Tx-11+x’
S =

X
Berikna f(1)da
f(x)=x
f(x)=x+5
f(x)=x-1
f(x)=2x
S(x)=3"
f(x)=25"
() =ax
f(x)=Tx-11+x"
S =

X
Berikna f(2)da
f@)=x
f(x)=x+2
fx)=x-2
f(x)=9%
f(x)=42
fx)=2"
f@)=9"
f(x)=+18x
f(x)=x"+2
S =

X

Extrablad anvindning av f(x)
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f(x)= Jx berikna
f(0)
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G
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f(x)=2x-1 berikna
f(0)

S@

/(2

f5)

G
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f(x) = x* beriikna
AQ)

f(2)
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f(x) =x* +2 beriikna
A

f(2)
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f(x)=2x-1 berikna
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f(x) = x” beriikna
f(a)

f(@®)

fla+1)

f@@ +1)
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fla+h)
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fB+h)-103)

f(x)=2x+1 och
g(x) = x* beriikna
S +gD

g2+ f(2)
f(5)+g0B3)
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Facit
Berikna f(0)da
f(x)=x=0
f(x)=x+1=0+1=1
f(x)=x-1=0-1=-1
f(x)=3x=3-0=0
f(x)=27
f(x)=2"=2"=1
f(x)=5"=5"=1
fx)=11"=11° =1
f(x)=vx=~0=0
f(x)=x>=0"=0
f(x)=Tx-11+x>=7-0-11+0° = -11

f(x)= 1 Ej definierat. Division med 0 &r inte tillatet
X

Berikna f(1)da

f(x)=x=1

f(x)=x+5=1+5=6

f(x)=x-1=1-1=0

f(x)=2x=2-1=2

f(x)=3"=3"=3

f(x)=25"=25"=25

f(x)=Vax =a-1=44=2

f(x)=Tx-11+x" =7-1-11+1> =7-11+1=8-11=-3
@)=t =11

X

Berikna f(2)da

f(x)=x=2
f(x)=x+2=2+2=4
f(x)=x-2=2-2=0
f(x)=9x=9-2=18

f(x)=42

f(x)=2"=2"=4
f(x)=9"=9> =81
F(x)=~18x =~/18-2 =/36 = 6
f(x)=x"+2=2"+2=4+2=6
f(x)=l=%=0,5

X
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f(x) =x+1 berikna
f(0)=0+1=1
fH=1+1=2
f(2)=2+1=3
f(6)=6+1=7
f(-)=-141=0
f(=2)=-2+1=-1
fa)=a+1

f(x) =3x berikna
f(0)=3-0=0
fMH=3-1=3
f(2)=3-2=6
f(5)=3-5=15
f=H=3-(-)=-3
f(=3)=3:(=3)=-9
f(a)=3-a=3a

f(x)= Jx beriikna
f(0)=0=0
f=+1=1
f(4)=+4=2
£(36) =36 =6

£(0,25) =,/0,25 = 0,5 £(0,36) = /0,36 = 0,6

f(x)=2x-1 berikna
f(0)=2-0-1=-1
f)=2-1-1=2-1=1
f(2)=2-2-1=4-1=3
f(5)=2-5-1=10-1=9
f(-)=2-(-)-1=-2-1=-3
f(-2)=2-(-2)-1=-4-1=-5
fa)=2-a-1=2a-1

f(x) = x* beriikna
=1 =1
f(2)=22=4
f(5)=5"=25
f(=D)=(-D)* =1
f(=2)=(=2)" =4
f(=5)=(-5"=25
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f(x) = x* +2 beriikna

f=1"+2=1+2=3

f(2)=2"+2=4+2=6

f(5)=5"+2=25+2=27

f(-D)=(-1)>+2=1+2=3 f(=2)=(-2)+2=4+2=6

f(x)=2x-1 berikna

f(a)=2a-1

f(@’)=2a" -1

fa+)=2(a+1)-1=2a+2-1=2a+1
f@+)=2a*+)-1=2a"+2-1=2a" +1
fA+h)=2(1+h)-1=2+2h-1=2h+1
fla+h)y=2(a+h)-1=2a+2h-1
fA+h)-fO)=2(1+h)-1-2-1-1)=2+2h-1-2+1=2h
fB+h)-f(3)=2@3+h)-1-(2-3-1)=6+2h-1-6+1=2h

f(x) = x* beriikna

fla)=a’

fla*)=(a’)’ =a"

fla+)=(a+1)’ =a’ +2a+1

f@+)=@@ +1)’ =(@’) +2-a* +1=a" +2a* +1
fA+h)=(1+h)’=1+2h+h’

fla+h)=(a+h)’ =a’ +2ah+h’

F+hy= fA) = A+h)> (1) =14 2h+h> —1=2h+ b

FG+h) = fB) =B +h) =(32) =32 423 h+ 7> =9 =9+ 6h+h* =9 = 6h + h*

f(x)=2x+1 och g(x) = x” beriikna
fDH+gh)=2-1+1+1"=2+1+1=4

g2+ f(2)=2-2+1+2>=4+1+4=9
f(5)+g(3)=2-5+1+43"=10+1+9=20
f)=g)=2-141-(1>)=2+1-1=2
g(l)—f(l)=12—(2'1+1)=1—2—1=1—3=—2
f(3)—g(2)=2-3+1—(22)=6+1—4=7—4=3
fD-g)=21+D)-(1*)=2+1)-1=3
f(0)-gB3)=(2:0+D):(3*)=1-9=9

2(0)- f3)=(0*)-(2:3+1)=0-7=0
fg)=f1")=fM)=2-141=2+1=3
g(f())=g2-1+1)=g(3)=3*=9

f(g(0) = f(0)= f(0)=2-0+1=1
g(f(0)=g2-0+)=g)=1"=1



